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ΘΕΜΑ Α 

Α1)  δ  Α2) δ     Α3) γ     Α4)  β 

Α5) Λ, Σ, Λ, Λ, Σ 

 

ΘΕΜΑ Β  

Β1. 

 

Β2.  

 

 

                                   

 

Β3.  

Α. Αποδείξεις βλέπε σελίδα 28 ΦΕΔ . 

Β . d1 = υ1
2/2α   και   d2 = υ2

2/2α   

Διαιρώντας κατά μέλη: d2/ d1 = υ2
2/ υ1

2 =  (2υ1 )
2/ υ1

2 = 4, άρα και d2 = 4 d1.   

Σωστό το γ. 

 



 

ΘΕΜΑ Γ 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

ΘΕΜΑ Δ 

Δ1. 



 

 

Δ2. 

 

 

 



Δ3. 

 

Δ4. 

Για t1= 5s:  υ1 = υαρχ-Ια3Ι Δt = 40-10(5-4) = 30 m/s 

Για t2= 9s:  υ4 =α4Δt = -10(9-8)= -10 m/s 

 

 


